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; 100kN/mM%#BZ % - -~ -|3mZE#BZ5 ~ - - -| 100kN/m#Z#B =% - -~ -|3mE#BZD ~ -
Zzh st ~ zhn st -~ - - - zh st - -~ ZzhnLs ~
2 100kN/mM%#BZ % ~ -|3mZE#BZ 5 -~ - - -| 100kN/m#Z#B =% - -~ -|3mE#BZD ~
zh st ~ Zzh st -~ - - - zh st - -~ ZzhnLst ~
3 100kN/mM%#BZ % ~ -|3mZE#BZ 5 -~ - - -| 100kN/m%#B =% - -~ -|3mE#BZD ~
zh st 1.00 | 0.00 ~ 5.48 68.38 | TS | 000 ~ 000]1.72 921 zh st 1.00 | 5.00 ~ 6.00 68.38 | =nLsN | 5.00 ~ 6.00|1.72 9.21
4 100kN/mM%#BZ % ~ -|3mZE#BZ 5 -~ - - -| 100kN/m#Z#B =% - -~ -|3mE#BZD ~
zh st 1.00 | 0.00 ~ 574 71.70 | =S | 000 ~ 574 1.76 9.40 zh st 1.00 | 5.00 ~ 6.40 71.70 | #nS | 600 ~ 640 1.76 9.40
5 100kN/mM%#BZ % ~ -|3mZE#BZ5 -~ - - -| 100kN/m#%#B =% - -~ -|3mE#BZD ~
Zzh st 1.00 | 0.00 ~ 585 7319 | =nS | 000 ~ 585] 1.80 9.65 Zzh st 1.00 | 5.00 ~ 6.64 7319 | #nS | 6,00 ~ 6.64 | 1.80 9.65
6 100kN/mM%#BZ % ~ -|3mZE#BZ 5 -~ - - -| 100kN/m#Z#B =% - -~ -|3mE#BZD ~
ZThLLS 1.00 1 000 ~ 618 77.53 | Thst | 000 ~ 618|177 9.46 ZTh Lot 1.00|5.00 ~ 714 77.53 | #hS | 500 ~ 714 1.77 9.46
- 100kN/mM#Z#BZ % ~ -|3mZE#BZ 5 -~ - - -| 100kN/m%#B =% - -~ -[3mZEBZS ~
Zhs 1.00 | 0.00 ~ 504 62.79 | TSt | 0.00 ~ 504\ 1.90 10.15 Zh st 1.00 | 5.00 ~ 567 62.79 | ThES | 500 ~ 5.67 | 1.90 10.15
g 100kN/mM#%#BZ % ~ -|3mZEBZ S -~ - - -| 100kN/m%#B =% - -~ -[3mZEBZS ~
ZThLLS 1.00 ] 000 ~ 265 34.75 | #nLs | 0oo ~ 265|241 12.91 ThLLst 1.00 | 5.00 ~ 5.00 34.75 | NS | 5.00 ~ 500|241 12.91
9 100kN/mM#Z#BZ % ~ -|3mZE#BZ 5 -~ - - -| 100kN/m%#B =% - -~ -[3mZEBZS ~
Zhs 1.00 | 0.00 ~ 518 64.58 | #FhList | 0oo ~ o0.00|1.70 9.11 Tnelst 1.00 | 5.00 ~ 557 64.58 | ThES | 500 ~ 557 | 1.70 911
10 100kN/mM%#BZ % ~ -|3mZEBZ S -~ - - -| 100kN/m%#B =% - -~ -[3mZEBZS ~
Zhs 1.00 | 0.00 ~ 589 73.72 | #FNLS | 000 ~ 589 1.83 9.78 Tnelst 1.00]500 ~ 6.76 73.72 | TS | 500 ~ 6.76 | 1.83 9.78
17 100kN/m%#BZ % ~ -|3mZEBZ S -~ - - -| 100kN/m%#B =% - -~ -[3mZEBZS ~
zhst 1.00 | 0.00 ~ 6.67 84.23 | #hdst | 000 ~ 000| 1.68 9.02 ZFh st 1.00 | 5.00 ~ 815 84.23 | #hst | 65.00 ~ 815 | 1.68 9.02
12 100kN/mM#%#BZ % ~ -|3mZEBZ S -~ - - -| 100kN/m%#B =% - -~ -[3mZEBZS ~
ZhLLs 1.00 | 000 ~ 754 96.46 | FhLst | 000 ~ 754) 1.81 9.69 Th Lot 1.00| 500 ~ 9.97 96.46 | ThLS | 500 ~ 9.97 | 1.81 9.69
13 100kN/mM%#EZ % ~ -|3mZEEZ D -~ - - -| 100kN/mi%#BZ % - -~ -[3mEEBZS ~
ZFhnLs 1.00| 000 ~ 772 99.12 | #F0S | 000 ~ 772|221 11.85 Lot 1.00 | 6,00 ~ 10.39 99.12 | =nLS | 6,00 ~ 1039)2.21 11.85
14 100kN/mM%#EZ % ~ -|3mZEEZ D -~ - - -| 100kN/mi%#BZ % - -~ -[3mEEBZS ~
Th st 1.00 | 000 ~ 643 80.93 | FnS | 000 ~ 643 1.92 10.28 Zh st 1.00 | 6.00 ~ 8.09 80.93 | EnLS | 65,00 ~ 809 | 1.92 10.28
15 100kN/mM%#EZ % ~ -|13mZEEZD -~ - - -| 100kN/mi%#BZ % - -~ -[3mEEBZS ~
st 1.00 1 0.00 ~ 6.60 83.30 | =hdst | 0oo ~ 660|175 9.37 ZzhLs 1.00 | 5.00 ~ 791 83.30 | #hs | 6.00 ~ 7.91|1.75 9.37
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16 100kN/mM%#BZ % - -~ -|3mZE#BZ5 -~ - - -| 100kN/m#Z#B =% - -~ -|3mE#BZD ~ -
ZThLLS 1.001 000 ~ 527 65.72 | Thst | 000 ~ 527|174 9.53 ZThLLst 1.00 | 5.00 ~ 5.69 65.72 | #nLS | 500 ~ 569 |1.74 9.33
17 100kN/m##8%2%5| 1.00| 000 ~ 036 10533 |3mEBZ5 -~ - - -| 100kN/miZE#BZ2 5| 1.00 | 11.28 ~ 1230 105.33 |3mEEZD ~
zh st 1001036 ~ 815 100.00 | #ns | 0oo ~ 815|2.59 12.80 zh st 1.00 | 500 ~ 11.28| 100.00 | Fhst | 500 ~ 1230 2.89 12.80
19 100kN/m##8%%5| 1.00| 000 ~ 073 110.84 |3mZEBZ5 -~ - - -| 100kN/miZ#B2 5| 1.00 | 1074 ~ 1303 110.84 |3mEEZD ~
zh st 100|073 ~ 851 100.00 | Fhilst | 000 ~ 851|209 11.19 zh st 1.00 | 500 ~ 1074 100.00 | FThst | 500 ~ 1303 | 2.09 11.19
19 100kN/m##8%2%5| 1.00| 000 ~ 080 11202 |3mE8BZ5 -~ - - -| 100kN/miE#BZ5 | 1.00 | 10.78 ~ 1338 11202 |3m%EiBZ5 ~
zh st 1001080 ~ 859 100.00| TnLs | 000 ~ 859|2.08 11.15 zh st 1.00 | 500 ~ 1078 100.00 | Tnst | 500 ~ 1338 2.08 11.16
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